EARAROBEEIERT — 2 N— IBISH —F

2018547168 (B) 1EIAH#1H

R ENE L e XY B R
[A&4£] 1 7% :3,000,000 @ 23 :1,200,000 33 :750,000 4 3% :450,000 @ . 5 7 :300,000 M
mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
Y2 HY KT I — o3 ?E{I(I)%ﬁﬁz 2:(1_2).1 7-7-7-7 | 40.8| — 4 470 gﬁg; (KF)
LTYIS-L EiAXER 2| =g
LG TRy T # 3 ?g’_fgzkéﬂliﬂ 2(:11/22.)2 6665 |41.2| — | 2 (4+537) gég; (R#)
R:ZAv—h77)3> BRyTFv—h =Y Ty—L
NP 3 | EBEAH 2:12.2 2-2-1-1 | 41.7| — 6 417 | RR (KH)
ARENLY b 56.0 (74%) +3) &) EuILy KTr—h
A=A A4 BNLVEC MY YY EvJLy RT7—L4
4 3 | ATHER 2:12.2 5-5-5-2 | 41.3| — 7 488 | BB (V)
Fr2ET 1A 56.0 (74%) o) | W) FriEdrxTr—1
RN—ErTr— Bivv/HyTa FrrEFLXTr—L4
s— . s . ipE ] 2. -3-3- X — HFREA (Hh)
5188 Jgoroavr "3 6.0 2(3,1/24)4 s\ aT 1 (4_911) HHETE
RN—=5—=2v 7 BT F7—Ta (B) HAI-FL—-va>BaEI7
S # 3 | EERA 2:13.0 8-8-8-5 |41.5| — 8 475 | FHIABR (K3#)
6l111|8>>+v7 57.0 @) (3 | W0 FO>F T £y
LX:F7v3iIs3—L B:14Y/FER FHEAE
R 4 3 | #IE 2:13.3 3-4-4-4 | 42.6| — 5 475 | FESRICHN (ZViA)
71717 HyJYR—=X 56.0 (11/2) -3) "%.;@Ti‘}
L:¥rs/07Oo4 B:ZrFFrF SNk Eie]
= . 4 3 | KHEZ 2:22.2 1-1-1-8 | 51.7 | — 3 503 | =iEAR (KH)
8|55 2—5Va1rx &0 e Loy | ST
L:NZ—ka21—X B:4vay XE BFE
® I —F—@EBIERL
13=zr= 5,6,7,8,4,3,2,1
Aol=5r= 5,6,8,7,4,3,2,1
30—F— (5,6),8,7,4,3,2,1
43—+ — 6,4,8,7,(1,3),2,5
[ RN
B OB 2 460M 714K 2-3 340M B E 2-3 940M &R 2-3-6 2,970
8 B 2 1509 2-6 460 B H 2:3 2,060 JEH 2-3-6 14,720M
3 160 3-6 750M
6 320M

ABICOVWTRDTEEERROODE. TR LIV,




